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Full Marks:- 100 Time: 2% Hours
Answer all questions. All questions carry equal marks.
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2. Find the complex Number z, such that|z| is the least in value and z satisfies the equation

lz—2+2i| = 1.
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Solve the equation \/x—1+2\/xT—\/x—1—2m= 1
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Solve the equation log(2x) = %log(x —15)*%
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Let x be in radian with 0 < x < g If sin( 2 sinx) = cos(2 cos x) then tan x + cot x can be written

as ﬁ, where a, b, ¢ are positive integers, finda + b + c.
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In about 300 B.C. A Greek geometric studied that r = ar

a
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z—c relating the sides of a right triangle ABC

to the radius r of its inscribed circle. In 250 AD a Chinese mathematician come up with a different
abc
a+b+c
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Solve the inequality |;CT3| <x.

expression r = , where formula is correct justify your answer.
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Solve 2(cos x + cos2x) + (1 + 2 cos x)sin2x = 2sinx,—m <x <@
8 ®X 2(cos x + cos2x) + (14 2cosx)sin2x = 2sinx,—nw <x <7

The length of the perimeter of a right angle triangle is 60 units and the length of the altitude

perpendicular to the hypotenuse is 12 units. Find the sides of the triangle.
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